
INDEFINITE & DEFINITE
INTEGRATION (II-B)

In intermediate public exams 3
LAQs, 3 or 4 VSAQs are expected fr-
om this chapter. In JEE-Mains, Adv-
anced one or two questions are com-
pulsory. In EAMCET 6-7 questions
are expected from this chapter. It is
comparatively tougher chapter to get
marks, so much practice is needed.

EAMCET Previous Questions

1.

(TS EAMCET-2016)

1) 2) 3) 4) π

Hint: 

put sin x − cos x = t 
⇒ (cos x + sin x)dx = dt
Upper limit = 0, lower limit = −1 &
and squaring gives sin 2x = 1 − t2

Ans: 1

2.

(TS EAMCET-2016)

1) 2) 

3) 4) 

Hint:

put sin x − cos x = t 
⇒ (cos x + sin x) dx = dt
Upper limit = 0, Lower limit = −1
As sinx − cosx = t squaring gives
sin2x = 1 − t2

Ans: 4
3. By the definition of the definite

integral, the value of

is equal to: (AP EAMCET-2016)

1) π 2) 3) 4) 

Hint: Using limit of summation

formula 

Ans: 2

4.

(AP EAMCET-2016)

1)

2) 5x3−52 x2 + 53x − 6
3) 52x3−15 x2 + 30x − 6
4) 53x3−75 x2 + 30x − 6

Hint:

Gives option 1 Ans: 1

5.

(TS EAMCET-2015)

1) 2) 3) π2 4) 2π2

Hint:

Ans: 3

6. (TS EAMCET-2015)

1) 2) 

3) π − 1 4) 

Hint:

Ans: 1

7. (TS EAMCET-2015)

1)

2) 

3) 

4) 

Hint: let ex − 4 = t2

Ans: 2

8.

(AP EAMCET-2015)

1) 2) 

3) 4) 

Hint:

Ans: 3
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1. Evaluate

Sol: Put 

Consider 3 +2x –x2

2. If then prove 

that 

Sol: Let

Use product rule,

= – sinn-1 x. cosx + 

= – sinn-1 xcosx + (n–1)

In = –sinn–1x cosx + (n–1)

In–2 – (n–1)In [from (1)]

In + (n–1) In = –sinn–1x. cosx

+ (n–1) In–2

3. Evaluate

Sol:

4. Evaluate

Put sin x − cos x = t 
⇒ (cos x + sin x)dx = dt
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Comparatively tougher chapter to get marks..
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